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1. Oscar Pistorius has been charged with the murder of his girlfriend Reeva Steenkamp. From
what you know, do you think he is probably innocent or probably guilty?

Probably innocent . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 6%
Probably guilty . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 48%
Don’t know . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 46%

1


